Study for Measurement Technology of Sound Noise
A Estimation Method on PWL of Mechanical Noise Based on the Vibration Measurement
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It is an important problem that the sound noise of the machine decreases. Sound power level is often used for
the noise rating of the machine. However, the background noise often causes the problem in the measurement
of the sound using the microphone. Then, we tried the estimation of the sound by the vibration measurement.
Concretely, we calculated the relationship between sound pressure level and vibration level of a jigsaw using
the generalization regression analysis. From the relation, PWL was calculated under the situation with the
background noise(the band saw) using the vibration level of a jigsaw. The effectiveness of this method was
confirmed by the comparison between the measurement using the acceleration pickup and the measurement
using the microphone.
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